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𝐷𝐼𝑆𝐶𝑂𝑈𝑁𝑇

𝑀𝐴𝑅𝐾𝐸𝐷 𝑃𝑅𝐼𝐶𝐸
× 100
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A.5%

B. 12%

C. 8%

D.15%

E. 18%

Question 1- A person marks up all article in his shop 20% higher. He 

gave 25% discount on 1/5th of the total article and 12% discount on 1/4th 

of the total article. If he gets an overall profit of 5%, then what 

approximate percentage of discount should be given  to customers on the 

remaining article. 

प्रश्न 1- एक व्यक्ति अपनी दकुान में सभी वस्तओु ंको 20% अक्तिक अंक्तकत करता ह।ै उसने 

कुल वस्त ुके 1/5 वें भाग पर 25% की छूट दी और कुल वस्त ुके 1/4 भाग पर 12% की 

छूट दी। यक्तद उसे कुल 5% का लाभ प्राप्त होता ह,ै तो शेष वस्त ुपर ग्राहकों को लगभग 

क्तकतने प्रक्ततशत छूट दी जानी चाक्तहए?
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A.Rs 871.2

B. Rs 764.2

C. Rs 771.2

D.Rs 660.2

E. None of these

Question 2- Cost of an article is  Rs. 726 is marked to be sold at a price 

which gives a profit of 20%. What will be its selling price in a sale when 

15% is taken off the marked price?

प्रश्न 2- एक वस्त ुकी लागत 726 रुपये ह ैऔर इसे उस मलू्य पर बेचने के क्तलए अंक्तकत 

क्तकया गया ह ैक्तजससे 20% का लाभ प्राप्त होता ह।ै एक क्तबक्री में इसका क्तवक्रय मलू्य क्या

होगा जब अंक्तकत मलू्य से 15% हटा क्तदया जाता ह?ै
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A.40%

B. 45%

C. 39%

D.48%

E. None of these

Question 3- The marked price of article A and B are in the ratio of 4:5.

The shopkeeper gives 30% discount on the A. If the total discount is 40%

the discount offered on the B is ?

प्रश्न 3- वस्तु A और B का अंक्तकत मलू्य 4:5 के अनपुात में ह।ै दकुानदार A पर 30% की

छूट दतेा ह।ै यक्तद कुल छूट 40% ह,ै तो B पर दी जाने वाली छूट क्या ह?ै
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A.Rs 40,000

B. Rs 30,000

C. Rs 24,000

D.Rs 80,000

E. None of these

Question 4- A chair costs 10 times the cost of a table. On selling chair 

there is a profit of 15% while the total profit on selling both is 20%. If 

there is a profit of Rs. 5600 on selling table then find the cost price of 

chair? 

प्रश्न 4- एक कुसी की कीमत एक मेज की लागत से 10 गनुा अक्तिक ह।ै कुसी बेचने पर 

15% का लाभ होता ह ैजबक्तक दोनों को बेचने पर कुल लाभ 20% ह.ै यक्तद क्तवक्रय मेज पर 

5600 रुपये का लाभ होता ह ैतो कुसी का क्रय मलू्य ज्ञात कीक्तजये।
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A.Rs 4040

B. Rs 3040

C. Rs 5040

D.Rs 2040

E. None of these

Question 5- Marked price of three articles A, B and C are Rs.4800, 

Rs.6000 and Rs.7200 respectively. A is sold at a discount of 10%, B at a 

discount of 20% and C at a discount of 15%, yet the shopkeeper got a 

overall profit of 20%. If cost price of A, B and C are in ratio 2:1:1 then 

find cost price of A.

प्रश्न 5- तीन वस्तओु ंA, B और C का अंक्तकत मलू्य क्रमशः 4800 रुपय,े 6000 रुपये और 

7200 रुपये ह।ै A को 10% की छूट पर बेचा जाता ह,ै B को 20% की छूट पर और C को 

15% की छूट पर, क्तिर भी दकुानदार को 20% का कुल लाभ प्राप्त होता ह।ै यक्तद A, B और 

C का क्रय मलू्य 2:1:1 के अनपुात में ह,ै तो A का क्रय मलू्य ज्ञात कीक्तजये।
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A.Rs 60000

B. Rs 50000

C. Rs 40000

D.Rs 30000

E. None of these

Question 6- The difference between a discount of 25% and two 

successive discounts of 10% and 20% on a certain bill was Rs. 1800. 

Find the amount of the bill.

प्रश्न 6- एक क्तनक्तित क्तबल पर 25% की छूट और 10% और 20% की दो क्रमागत छूट के 

बीच का अंतर 1800 रुपये था। क्तबल की राक्तश ज्ञात कीक्तजए।
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A.12%

B. 14%

C. 20%

D.10%

E. None of these

Question 7- A shopkeeper marks the marked price 20% more than the 

cost price that is Rs. 3000. After giving two successive discounts of 10% 

and y% he losses Rs. 84. Find the value of y.

प्रश्न 7- एक दकुानदार अंक्तकत मलू्य को क्रय मलू्य से 20% अक्तिक अंक्तकत करता ह ैजो 

3000 रु. ह।ै 10% और y% की दो क्रमागत छूट दनेे के बाद उसे 84 रुपये की हाक्तन होती 

ह.ै y का मान ज्ञात कीक्तजए।
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A.Rs 600

B. Rs 800

C. Rs 500

D.Rs 900

E. None of these

Question 8- A profit of 13% is made by selling a shirt after offering a 

discount of 20%. If the marked price of the shirt is Rs. 1130, find its cost 

price. 

प्रश्न 8- 20% की छूट दनेे के बाद एक शटट को बेचकर 13% का लाभ कमाया जाता ह।ै यक्तद 

शटट का अंक्तकत मलू्य 1130 रुपये ह,ै तो उसका क्रय मलू्य ज्ञात कीक्तजये।
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A.10.75%

B. 20.25%

C. 12.5%

D.13%

E. None of these

Question 9- After getting two successive discounts a person got an 

article Rs. 1428 whose marked price is Rs. 2000. If the second discount 

is 20% find the first discount. 

प्रश्न 9- दो क्रमागत छूट प्राप्त करने के बाद एक व्यक्ति को एक वस्त ु1428 रुपये प्राप्त हुई 

क्तजसका अंक्तकत मलू्य 2000 रुपये ह।ै यक्तद दसूरी छूट 20% ह,ै तो पहली छूट ज्ञात कीक्तजये।
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A.Rs 14406

B. Rs 23606

C. Rs 14466

D.Rs 13376

E. None of these

Question 10- Virat got at 30% discount on the listed price of a bat. Had 

she not got the discount, he would have paid Rs. 732.18 extra. At what 

price did he buy the bat?

सवाल 10- क्तवराट को एक बल्ले की क्तलस्टेड कीमत पर 30% की छूट क्तमली। अगर उसे छूट 

नहीं क्तमलती, तो वह 732.18 रुपये अक्ततररि चकुाता। उसने बल्ला क्तकस कीमत पर खरीदा 

था?
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A.Rs 20

B. Rs 40

C. Rs 45

D.Rs 43

E. None of these

Question 11- A person sells a table whose marked price is Rs 60 after a 

discount of 15% and gives a pen free of cost Rs 3. After this he makes a 

profit of 20% then find the cost price of table.

प्रश्न 11- एक व्यक्ति एक मेज क्तजसका अंक्तकत मलू्य 60 रुपये ह,ै को 15% की छूट के बाद 

बेचता ह ैऔर एक पेन 3 रुपये मफु्त दतेा ह।ै इसके बाद वह 20% का लाभ कमाता ह,ै तो 

ताक्तलका का क्रय मलू्य ज्ञात कीक्तजये।
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